TpeHNpPOBOYHbIN XypHar

wermer] KETTLER WORLD TOURS 2.0
Nwma: Alex Hopora: Saint-Petersburg
Ums: Glad Oowm: home
TpeHaxep: X1 Tuna mapupyrTa: Puls
MapupyT: 30-MMHYTHas TPeHNpoBKa Mo Nepece4eHHON MeCcTHOCTU (MHTEHCMBHAaS)
KommeHTapum: ConpoTueneHue/amanasoH nynbca: 90% nukoBbIn/65% BoccTaHoBneHne = 150-110 ya/mMuH
The example is based on a 50-year old.
Oara: 11.01.2018 16:46

TpeHupoBo4HOE BpeMs:

TpeH npoBoY4YHaA ANCTaHUUA:

Pacxopn aHepruu
Bec:
duTHec-oLeHKa:

CKopocCTb:

Mynbc:

Harpys3ka:

O6/MuH

Temn:

Mynbc B BuAe npoueHTa:

TpeHUpPOBOYHbIE AaHHbIe
00:30:00 4::muH:cek

13.30km
150kCal
107 kr
2.4 (HavanbHbIn nynec 143, KoHeuHbin nynbc 116, PasHuua -27 )
CpegH. MuHumym Makcumym
26.77 8.20 34.20 km/h
128 90 159 ya/m
87 25 150 Bart
75 23 96 1/MuH
2.29 1.75 7.32 MUH/KM
76.2 53.6 94.6
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Bpema [umuH:cex]



BoccraHoBneHue (12,0 %)
A3pobHas 30Ha (44,4 %)



